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Data from 10mm gauge block of EIM_DIM_01 in nm

Il =0 I2 = 1C |3 =1C I4 = 2( I5 = 1C Uy = 14.¢

. | | - |
v evaluated as usual: Vg = max 11,1, 13, 14, 'EJ — min l1,15,13,14, I5\
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Evaluation with infinite degrees of freedom

N := 20000
D1 :=rnorm N,ly,uy D2 := rnorm N, Iy, uy D3 := rnorm N, 3, uy
D4 = rnorm N, lg, Uy D5 := rnorm: N,I5,u)&‘

D := augment(D1, D2, D3, D4, D5)

V:="for iec0.N-1
Va2 4

| | .| |
W e maxD; ,0; 4.0; 5.0 3.0,y —minD; .0; 4.0; 5.0 3.0

Uy = stdev (V)

confidence interval calculation: s := sort(V) =17.147 =63.25

510000 $190000

dV := histogram(100, V)

mean(V) = 38.445 Uy = 14.083
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Evaluation with finite degrees of freedom v =2
V= |n « 200
m <« 1000
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or jeO0.n-1
d1l rnorm m, 11, U.
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2 'm,1,,U.
d2 « rnorrq m, 2,UJ‘\
| I -\

d3 « rnorrq m, 3,UJ‘\
d4 ly,U.
<« rnorrd m, ly, J}
d5 « rnorrq: m, I5,Uj:\

d « augment(d1,d2,d3,d4,d5)
for ie0.m-1

g j < maxd; .0y 4.0, 5,05 3.0 4 —mind; .0 .05 5005 5.5
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eff. degrees of fredom: Vo = 5.635

. - - . - ‘ _ _
confidence interval calculation: §,:= sort VlJ $10000 = 14.283 190000 = 67.597

dv = histogram(d\/<O> ,vl)
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